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Efficiency for non-resonant decay B—D°nn®
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Comparison of resonant and NR signal MC
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Fits for SCF, BBbar and Continuum of deltaE (700 fb™?)

00
beta =-14.89 +/- 0.9

= E
§ 2z00 frac = 0.53 +/- 0.02

BB background fer-706fb- ‘

s i = 0.08 +- 0 1
3 2000 B rOOEXpOnetlal X fiac1 2.0 ?8 D0 . Continuum for 700fb SCF for 70%"3(: = 0.52 +/- 0.07
o Chebvshev(0 mean_bb = -0.0112 +/- 0.007 neont = 33083 +/- 182
g E* rooLnhepys eV( ) X | nbbbar= 24069 4 155 1200 p1 =-0.1665 +/- 0.009 mean = -0.0102 +- 0.004
3 o rooGaussian sigma_bb = 0.050 +/- 0.008 P2 =-0.0145 +/- 0.008 nsct = 24002 +/- 155

p1=-0.215 +/- 0.05
sigma = 0.089 +/- 0.007

Candidates per 0.01 GeV

Candidates per 0.01 GeV
§ & 8
II X

3 ; N 3 i a3 i3
;g ::_‘*é;;ié-ié}{}i&é";;i‘*i-f-iéhiii*-i N ‘{\IJI = ‘47.|05' = ':! == IO.I']SI = lo,||I = IO"‘_?E‘vG‘ev_n N '-ol|I = ‘o_‘ﬁ' == (; == Iotll_sl = Iol| = IO.II_?EI[G;V"

R LBt bttty byttt g i,

é 2000 . nbbbar = 24070 +/- 155
s rooExponetial x p1=-0154-02
P2 =-0.25 +/- 0.1
rooChebyshev(3) R
100

- rooChebyshev (2) rooChebyshev(0) x
= rooGaussian

A Roca ol uE i




Candidates per 0.01 GeV

Fits for signal AE (MC14 . 700 fb™)
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Candidates per 0.01 GeV
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Fit parameters of signal MC for B—D°p
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New BBbar parametrization
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TOY MC result
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Nscf+bb = f-PDFs.s + (1— f)- PDFy; 5o Nsor

NbE + Ngcr
FCN=-1.83767e+06 FROM HESSE STATUS=0K 16 CALLS 93 TOTAL Fit for 700fb™' 2Johnson fixed Nscf+Nbbbar
EDM=5.10093e-05 STRATEGY= 1 ERROR MATRIX ACCURATE
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TOY MC result
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Sig PDF cont PDF SCF PDF BBbar PDF

(Johnson + Johnson) (Chebyshev) (Gauss+Cheb) (Exp + Cheb(3))
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COVARIANCE MATRIX CALCULATED SUCCESSFULLY
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Sig PDF cont PDF SCF PDF BBbar PDF
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FCN=-1.83765e+06 FROM HESSE

EXT PARAMETER

EDM=0.000256094

NO. NAME VALUE ER
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